
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

１，次の英文を、“not”を使った否定文と“no”を使った平叙文に書き換えなさい。 
 
① There  is   an  apple   in  the  box  . 
 
 
                                          
 
 
                                          
 
② There  is   an  old   building   in  the  city  .   
 
 
                                          
 

 
                                          
 
③ There   were   some   pictures    in  this  house . 
 
 
                                          
 

 
                                          

 
 
 
 □  There  isn’t   a  desk   in  my  room . 
 
 
    There  is    no  desk   in  my  room . 
 
 
 
  □  There  aren’t   any  stores   in  my  town . 
 
 
     There   are    no  stores    in  my  town . 
 
 
 
 
※  一般的に、英語は「否定文」よりも“no”を使った「肯定文」での表現を好む。 
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